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0.1 ofa3.6*2=72 =k=V
=7| T=7.2/V(sec/cycle) =1t F=1/T(Hz)

w=2m1F(rad/sec) Sinusoidal function, Asin(wr)

U =O. 1*Sin (W*t) LU I _ . vit) = Asm{wt) v(t+T)=v(r)

¥
s

1 2
=—[Hz]. =21 f =—]|rad/s
T{ ] r = [ ]

A: amplitude of the sinusoid

I period of oscillation

[ frequency (or number of cycles per second)
¢ angular mqutur




2DOF
Quarter car model

Ms*Zs”=-Ks(Zs-Zu)-bs*(Zs’-Zu’)

Mu*Zu”=Ks(Zs-Zu)+bs(Zs’-Zu’)-Kt(Zu-Zr)

Ms=400Kg, Mu=50Kg, bs=1500Ns/m,

Ks=20000N/m Kt=200000N/m
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Matlab Function o om,
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y=0, T*gin(2#pixf*u)
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Low cycle - High cycle
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1 As AA

1020 CD steel - Sut : 470[MPa]

7075 T6 Aluminum - Sut : 593[MPa]

Sy = aN®
St = fSue @N =103
S =S.@N =10°

_ (FSuw)?
a=

(f Sut)
0g

f for 490 < §,,; < 1400 MPa
30 1400 f =09 for 5, <350 MPa




A . !
de = ksur'f'l‘-sfzekmadktempk;r'e!iabkmfscse

= Surface factors
. — ,cb
I‘-su.‘rf - asur (S 1)
a
1.58
451
57.7
72

Surface Finish
Ground
Machined/cold-rolled
Hot-rolled

As-forged

A

2. A7| A=
= Size factor

* The larger parts fail at lower stresses

* For rotating bending and torsion
1.24d7%17 279 <d <51 mm

ksize = -
sze {151:1'“-'“ 51 <d<254mm




30Km/h
FZ 150N 900N 200N
= 184[MPa] 77[MPa] 17.1[MPa]
53.2[Mpa] 22.3[Mpa 49[Mpa]
50Km/h 1 2 3

FIZ 2950N 625N 140N
= 252,4[MPz53.5[MPa] 12[MPa]
72.9[Mpa] 154[Mpa] 3.5[Mpa]
1 2 3

3650N 460N 100N

312.4[MPz 39.4[MPa] 8.6[MPa]
90.2[Mpa] 11.3[Mpa] 24[Mpa]

Mz 1020 CD steel

30Km/h 1 2
FZ 250N 900N 200N
= 178|MPa] 77[MPa] 17.1[MPa]

50Km/h 1 2
FE 205N 625N 140N
2 2447[MPz53.5[MPa] 12[MPa]

70Km/k 1 2
FIZ  3650N 460N 100N
302.7[MPz 39.4[MPa] 8.6[MPa]

M= aluminumn




X initial value
Sut=470: f=0.9;

XX load &stress
load=[2150 2950 3650] :
stress=[184 252.4 312.4] :

XX limit
if Sot<1400
limit=0.5+5ut ;
else
Limit="700;:
end

XX surface factor
ZMachined

a=4.51;:b=—0.256;

Ksuri= a+Sut”b;

XX critical surface size
tf=0.01: al=0.05: bl1=0.05:

¥ fatiguesteel if tf>0.025al

A=0.05+b1+al

IaﬂB*ﬂE * EISEAZD.1*31*tf;

end
XX effective diameter
de=sqrt(A/0, O76E) ;

R id fau
96112 0783 0219 [1 (1000~den2. 79881000+ de<51)
Ksize=1. 24+« (1000+de) " (-0.107):

elseif (1000+de>511E&8(1000+de<254)
Ksize=1.51+(1000+de)"(-0.157);

end
fx » . _—
¥ endurancel init=Ksurf+Ksize~limit:
for i=1:3
sigma=stress(i);

ag2=(f+3ut) 2 /endurancelimit ;

b2=-1/3+1og10( f+Sut fendurancel imit):

Lifelii=(siamasa2)"{1/b2):

if sigma<endurancelimit
Life(i)="infinte ;

end

end

displlife)




A initial wvalue
Sut=593: {=0.9;
Sut2=470;
e load Estress
stressi=[178 244.7 302.7]:
stress2=[184 252.4 312.4]):
ek limit
if Sut<330

limit=0.4+3ut
else

limit=130; »» safteyfactor
end 0,7303  0.6313
if Sut2<1400
limit2=0.5+Sut ; 16114 11747
else
limit2="700;
end
for i=1:3
sigmal=stressi(i):
sigma2=stress2(i).:
safty_fl(il=limit/sigmal;
safty_f2(i)=limit2/signa2:
end
disp(safty_f1)
disp(safty_{2)

0.4295

0,949
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